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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of

each question with Marker or pen ink on the answer sheet provided.

1.1 A collection of well defined objects is called: :étlk;rfi(; L}Jff'.l,- 1A
(A) Empty set  LxJb (B) Powerset Zrul (C) Subset :rﬁf; (D) Set =»r
2. The number of different ways to describe a set is. :;‘_,ﬂ,.éu’u;é_{)__afx{_;_/@ ier 2
(A) 3 8) 2 (©) 1 (D) 4 |
3. A grouped frequency table is also called: :,.I'_t'lﬁc'i,lquu;'@:/f 3
(A) data o | (B) frequency distribution 2
(C) frequency polygon & ot o (D} square &/
4. Mean is affected by change in____: e b e A bl 4
(A) Value =4 (B) rati6 /=’ (©) origin B\’ (D) Place &
kY4 3z
8. X radians=: ::":é‘;T 5
(A) 115° (B) 135° (cy 150° @) 30°
6. Radii of a circle are: STl Skl B
(A) All equat 222V (B) double of the diameter e B
(C) All unegual ,cl,:;frlf (D) Haif of any chord AE-)T.’_‘_,},'J'{J(
2 A line which has only one point in common with a ;i-':nqﬁ'/&‘,bﬁwﬁhjﬂjvig_}I:{L.-)-Li.{l s
circle is cafled_____of a circle: :g,rﬁa;"__j
(A) Sine (B) Cosine (C) tangent (D) secant
8 A 4cm long chord subtends a central angle of 60°.The radial b /S lae L‘b.,,-!;-5’60°,_;}fz}:JJis{}_LJ:/“4.{i 8
segment of this circle is: By
(A) 1 cm B) 2cm (C) 3cm (D) 4cm
g The circumference of circle is called e w«ﬂg{(_, s 9
(A) chord s (B) segment ¥ (C) boundary s (D) tangent JV
10 Standard form of quadratic equation is: ::_;Huﬁdﬂ:vd/:.uvé.m.; 10
(A) bx+c=0, b # 0 (B) ax?+bx+c=0,a% 0 (C) ax®=bx,az0 (D) ax*=0,a%0
11 The roots of equation 4x’-5x+2=0 are: :ufp-%;-£.4x2~5x+2=0.:.lpp A4
(A) Irrational  Fid (B) Imaginary &#  (C) Rational % (D) Real &
Pl
12. =17 is equal to. Wi T Ty A
~ B a a f
L 1.z o, B iy B
) o B o © afl aff

13. In a ratio xy, y is called: Z:L-L‘LL-."' yqu:y-.“«J:‘J A3

(A) Relation J’J (B) Antecedent r"lJ’: {C) Consequent (';-;5/» {D} Means u_‘b‘i
14, 1F UV then: JwUoeveS 14
(A) U=V’ (B) U=KV’ (C) UV=K (D) UV'=1

15 (x+3)°=x’+6x+9 s e Li(x+3)°=x*+6x+9 .15

(A) A linear equation elogsl (B) Anequation =l
(C) An identity ey (D) A constant term S
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Marks: 60 Time:2:10 Hours & 2:10:23,
Section -1 2x18=36 Jif,..-b
2. Write short answers of any six parts from the following. 2x6=12 du_‘/}f-.:,Llﬂ;ﬁéflzlga_gjfc.dgtia» .2
i. Write in standard form. (X7 (x-3)=-7 ~ ..g{ﬁ:.«;r’dzkv ]
i Define exponential equation. _a:fg;_gﬁu/_-,l,vjb-’a; i
iii. Solve (2x —%)2 =% _éf)’ i
iv. Evaluate "+’ +1 _{_:gi}"‘;,,f v
v. Without solving find the stm’ and the product of the roots it s 3z/"’£:ﬁ;‘4|'wd IR,
of given quadratic equation. X +7x-11=0 % @Fﬁ’.,ﬁ;f‘b
vi. Write the quadratic equation having raots’™-1,-7. _L:‘T‘g.:.I,L/J;,-,;LMJJ,~7J":; Vi
vii. If 3(dx-5y)=2x-7y, find the ratio Xy. _ég;:b”x:y:..??3(4x--5y}=2x-7y/ff Vil
viii. State theorem of componendo-dividendo. cfgb..,r' J'F.J/ Vil
ix. Find a fourth proportionat 4" 2x° 18x° - p‘-“.__.fb?u'is; ix
3. Write short answers of any six parts from the folio_gvinq. 2x6=12 -qa‘}faglxﬁ?ﬁrleajaéﬁuﬁdiéu .
i. Resolve into partial fractions - J:]x)_( ,:\9—_' 3 4 ‘;?Jp}:‘ii’fua'//l.:'s:? A
ii. Define a rational fraction and aiso give its example. ..ﬁ;"ZJ‘UL‘osiégf_.é-fd}—f_}!’
iil. If x=¢ and Y=Z" then find: XUy #.ﬁ_;i.}:}v;x\fzz*nrx:qé,«'? il
. If A={a,b} and B={c,d} then fing: AxB . -ﬁ?#v;yaz{c d)stA={a b}/l iv
v. Define a function: *{_ﬂf} (52 o
vi. If L={a,b.c} and M={d.e f,g} then find two binary relations of LxM :ag?w*@i,;Js,-nﬂm—{d efahsil={a bt vi
vii. Find mean using direct method 11500,12400,15000,14500 14800 - :5»*-*-‘ im!dl.:;_,.; il i
viii. Define central tendency ,a:,if_,éi/"dd@ud}} i
ix. Define dispersion _1%:93/‘1(»3! ix

4- Write short answers of any six parts from the following.

i,

Convert 4.5 radians to degrees. _.&,,m{,",._:'.-_;:;jﬁ:f-ji;d_S

In a circle of radius 12 cm, how long an arc subtends a central Jb,sf,: 84

angle of 84°7 w vou |

w6=12  _ySrfelrf arige Se bt -4

rid s ,'._,:—..._/ 12,11 -g_,)-: AN




Rwif-19 -G\-20

i Ina AABC a=17cm, b=15cm and c=8cm, #xc=8cm 1 b=15cma=17cmyU~tABCEA> i
_é:ﬁrs"“’m ZB

o A . =
-&-;@f’u}’iu"b:lﬂ{(_//[)_&i AV

find m £ B.
iv. Define a chord and the diameter of a circle.
_e__’{@f?ufuviu’b RY

= E:f{_é"’/‘:’.brsfl;.ab"‘ i

v. Define tangent to a circle.

vi. Define segment of a circle.
vii. What type of opposite angles of a quadriiateral ‘-‘u_?d".:f[.._/j‘, kel oy SRS s it
inscribed in a circle?
viii. Practically find the centre of an arc ABC. _ézl;P{;#J”;@}LABCJF_Q viii

ix. Define Escribed circle of a triangle. —Eé’J»é’}d:}I;;j'Lgé S5 ix
Section -1I1 r:;..b

Note: Attempt three questions in all'while Q:No.9 is compulsory: _.;_d}ﬁsﬁidir,éq/fxf.mgmzi_-,mmff:,}

8x3=24

{a) Solve the equation by completing square! 3+ 7x=0

_u_“/r;_f{‘i/u- .{J;'}:(_"J;Lf I .

(b) Solve by using synthetic division if -1 is the et A E S0 (L)
root of the equation. 45°x*-11%-6=0 WY
{a) Using theorem of componendo-dividendo. solve: ..f_:f‘-j-_,l“’z_.«L;‘Uv*ﬂ._-;ﬁ»,-;-_}:fj”;..{’lli‘ () .
(=" =(x—47 ‘6
(x=2Y +(x=4)" 13
9 g
{(b) Resolve into Partial fractions. ‘G—_I](x+ 2T SIS (L)
(@) fU={1.2,34....10},A={1,3,57,9), WIA={1,357.86U={1,234_ 10}/ (L) .
r r . -
B={14,7,10} then verify B-A= B} A = 7B={1,4,7,10)
(b) Find the standard deviation. 9,3,8,8,9,89,18 SIS (L)
{a) Verify the identity Tan # +Cot @ =Sec (! Cosec & LU leie b (L)
(b} Circumscribe a regular hexagon about a circle of radius 3 cm. _U::,t:ur)w"rﬁ)r/‘b"{,ﬁ{_.("‘3;._;'[,\‘!5/&;4}_:{' ()

Prove that: perpendicular from the centre of a circie on a
chord bisects it. OR
Prove that: the opposite angles of any quadrilateral inscribed

in a circle are supplementary
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/{Ulyu’l,; WL}L;?‘- » ':".-o:..;fyf__.,f_r DLV zc_,,! D.1,C,B, A..-L'J’,lea Jlf/aﬁ. /Jb’d‘?g 1f’1._, d'vLJ;’L..Ufrr'.x 24

e ;,»‘;.@L,J’Juﬁ); Ih5e LD CBA

s7& L

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to
each question are given Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1,

10.

1%

12.

13.

14,

15.

Standard form of quadratic equation is:
(A) bx+c=0,h %0
It @, f are the roots of 3x*+5x-2=0,then @ + B is:

(B) ax?+bx+c=0,a 0

{C) ax*=bx,az 0

Wrak o + ﬁ :_?uﬁjszﬁ3x2+5x—2=0.;hu ﬁ, 24 /r‘| 2

Iq_fdxgvd/;I:L/dm; A1
(D} ax’=0,a=0

5 3 -5 -2
(A) ) (B) 3 (C) 3 (D) 3
o’ + 3 is equal to ‘el o'+ 3
, 1 1 R
@ @’ = ® o © (@+p)-2ap o a+h
In a ratio a'b, 'a' is called: e bl a'Labes’ 4
(A) Relation JJ'; {B) Antecedent r;':fd'-/ (C) Consequent f:d/» {D}) None Uﬁ"df
a4 ¢ . v e (e B
If h = E then componendo property is: o i - A1 .5
a o« a ad a—b c~d
A 4 ih c+d B w-b c-d © pe ©) b - d
__x=2 - NP ..
Partial fraction of (x=D{x+2) are of the form: ?.;_d;fdf i d (x-1)(x+2) B
A B Ax B A Bx+c Ax+ B 5 L
e ®) x._—_l+x+2 (€ JL_—-T x+2 B  x-1  x+2
. A set with no element is called. :.;_Lrllrguw'ggjf,r:u’?.:«: r:
(A) Subset ..*{Cf; (B) Emptyset =xil {C} Singleton sét 2r-f (D) Super set O
Point (-1,4) lies in the quadrant: e b L1405 8
(A) | (B8) I (C) In (D) v
A grouped freguency table is also called: :'_E'_J-ﬂ'd »d:»’gﬁ:, 8
(A) Data ¥ (B) Frequency distribution Hd
(C) Frequency Polygon & uweu 25 (D) Histogram ¢
The positive square root of mean of the squared deviation -,'R/L_EI/‘}.;.L}L)Z el Xi(i=1,2,....n) .10
of Xi(i=1,2,....,n) observations from their arithmatic mean is called: '-u_"{ilzﬁjg;;ﬁimig}u&
(A) Harmonic Mean L/ b 7% (B) Range =~
(C) Standard Deviation ...jlji'idJ_’Lﬂ-‘ (D) Domain 2}
0% e bwalz20” 11
(A) 360’ (B) 630 (C) 1200’ (D) 3600
Radii of a circle are: e skl 12
(A) Allequal sl (B) Double of the diameter Wi B
(C) All unegual ,:L:/fri.? (D} Half of any chord  &.» 'c_/sf,f(
A line which has two points in common with a circle is elun P d L e L sl 13
called___ of acircle: :;,_';‘:d/_b’g_}f:
{A) Sine {B} Cosine (C) tangent (D) secant
A 4 cm long chord subtends a central angle of 60°. The tLz,::;b’GO";)f/})quJl,J(“A,.J.:J 14
radial segment of this circle is: G Mo
(A) 1 cm {B) 2cm {C} 3cm (D) 4cm
The circumference of a circle is called. e t!k@;"ﬁ?_ s 15
(A) chord s (B) segment . (C) boundary (D) tangent U
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Section -1 2x18=36 Jil
2. Write short answers of any six parts from the following. 2x6=12 -U[/Qf-.;glﬁfglfizlgaljfc.ufgba;: :
i. Define radica! equation. -u:"’""..-sj mslrfode
i Solve by factorization -11x=152. NERAT PPN
1 1 "
i Write in standard quadratic form. o + ;_—4 i _L,:”{C.plslj,-gvd'c,hwd’.ma i
iv. Without solving find the sum and the X +7x-11=0 E’(roots)u’l.;[_u'i,é-’éﬁ i iv
product of the roots of equation. _u_’;’_‘('ﬁ-"‘._,/"-,yb;surf
v Find the discriminant of quadratic equation. Ax°-7x-2=0 .v_,:/'?:';"”uij:’){&':wdn}: N
vi. Write the quadratic equation having the roots 2,-8. _u:”fi:,st»J.,-:»d's(Rcols}V:',u.’ifé_; i

S 38 495116 Vi
,.u:,‘?}l’“_‘r’t—:k&;:; RYT

vii. Find a mean proportional 10”16 and 49.

viii. Find the fourth proportionai to 58,15
ix. State Theorem of componendo-dividendo. _V:/{;Jga»:"._}..“‘bs-.ff},r/ ix
3. write short answers of any six parts from the following. 2x6=12 Jz /.‘:alglﬂﬁgﬁpizhz::.éfagﬂuf}a»
4 -
i. Define fraction. = ‘-'f'_?g/‘b,f i

. . : _ e B e w
ii. Resolve into partial fraction. e e UASS R S
(x+D(x=3) 7
i 1f X={1,4.7,8) and Y={2,4,5.9} then find ¥ Pl _éj_.é;:‘-"‘ Y X rY={2,4,59b4X=(1 47,911 i 4
iv. If X={2,4,6, 20} and Y={4.8,12,...,24} then find * 43}":,'1-”X-YP:€Y${4,8,‘|2 ,,,,, 24} 5IX={2 4.6,.. ,20};"7 v
v. |t A={a,b},B={c,d}, then find AxB. _;?;FAXB_?B={c,d}J,-iA={a.b}f v
vi_ If set M has 5 elements, then find the number of binary relations in M. ~E.‘._“‘g:’}v}u-”“v(}gﬂ.nJI.‘;.'J:M;UK:}BJ5£ Mo A
vil. Define Arithmatic mean and also write its formula. ,g’ﬂfuwﬁ,-slé:fr_»;{/:'u}:u}u i
viii. The marks of seven students in mathematics are as follow. j'_ufgj_'_i.?jﬂwgif,}s?;_ﬂ_fpi. urLi,f'Lb.:,L,« il
Calculate Arithmatic mean _é__é-?}*’.lmlg,}w.»_--,;. Satsr
Student No. 1 2 3 4 5 6 7
b .00 '
Marks 45 €0 74 58 65 83 49
i
ix_ Define Geometric Mean and also write its formula. éfﬂr‘;b;ia}{@ﬂb{ml-_5,;_,5!
4- Write short answers of any six parts from the following. 2x6=12 ‘J_&f:«Lizﬁéf!zgcﬂfaqﬁis&:

@t 4 135"

i. Express 135" into radians .
[ =45m, =2.5m £ O i
&

L = ':": i 1
_aned AU s

ii. Find ¢ when (=4 5m, r=2.5m.

il. Define Projection.




iv. Define a circle.
v. Define secant.
vi. Define chord of a circle.

vii. Define circum angle.
vili. Divide an arc of any length into two equai parts.
ix. Define the segment of a circle

Section -1I1

Bx3=24

_.._::‘—r._.gf"u‘_.fl, v
..&_‘,Z;éf/’.gh)'gii' BY
LSSl p i
_é_ff_é);{;r_;.,gr;u/t; i
_eE e AEGUS i
._%:.&;&;!z:ﬁz_.ff; ix
r'u,_io

Note: Attempt three questions in ail while Q:No.9 is compulsory: aq_J}UB/:;JI:'.»,@J_/?;&LEL@U':@EJ s

{a) Solve the equation by completing square.

(b) Prove that:

\&E +9p£ —'-\Iflrl_': _p_

£ P+mx+n=0

X4y 2 -3xyz=(xy+z) (x+ O y+ (0 Z)(x+ W'yt Q)

IS e () 5

St (D)

-

\r(xl +0p* +4f

1

(a) Solve

(b) Resolve into Partial fractions.

{a) If A={12,3,45,6}.B={246,8},C={14,8} then

2 2
ep

(' =D(x+1)

_EF (U 6

) .1! —

_U:)T,k;f:i,/;j;z (h./)

#C={1.4.8).5B=(2,4,6 81A=(12,3456}/1 () 7

Prove that. ANBUC) = (ABUANC) RSP
(b) The marks of six students in Mathematics are as follows. -g”ruf.i(-,»;_ﬁ}u,{}‘bvtgf"l_.;_Lu;)‘.._Abg ()
Determine variance. _;;_:5-_?,1#_-,_13"7
Student No_.\¥ 1 ) 3 4 5 8
Marks 7 60 70 30 90 80 42
(a) Prove that Cos*0—-Sin'0 = Cos 0 — Sin" 0 i%{:-f‘“ (i 8

{b) Inscribe a circle in an equilateral triangie ABC with
each side of lenght 5cm.

Prove that "If two chords of a circle are congruent then

they will be equidistant from the centre”.

OR

Prove that:The opposite angles of any quadrilateral

inscribed in & circle are suppiementary.

20-10-A-39000
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